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QL.

points (1,4,2) and (—3,-3,3).

Option A: -1, 1
ec™ (=)
- 3.
0s™H(7)
Option C: Sec—l(_})

Option B:

-

@ Option D: -1.1 )

yzictxzj + xyk and C
is

Option A: | -13
OptionB: |33
Option C: | 13:=.

OptionD: | 070~

3.

Option A 10,457
Option B:i1.0.27 & ol
Option C: < 0.72 & &
“Option D: 0.

4o [Tftwo variables oppose ea

|- Option A:  Positive .Correlation”
Option B: ‘| Negative:correlation
o | Option C: } Petfect €orrelation
.| Option D" | No correlation”

n.ral?éq;gs‘on distribution if P(X = 2) = P(X = 3) then P(X = 5) is

OptlonB ﬁo 084125
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10.37256

Option C:
OptionD: | 0.037256
6. For a probability density function of a co
the probability of a single point is
Option A: | 1
Option B: | 2
OptionC: | 0
Option D: | constant
7. Which of the following tests woul est il
continuous random variable {0:a population mean?:
Option A: | One-sample /-test
Option B: | Independent-samples #-
Option C: | Chi-squared #-test
Option D:
8.
Option A:
Option B: .
Option C: | The mean,thedian
OptionD: | It is a bell:shaped

| The valuc'of integral ¢,

1
Z—1

dz, wherecis |z — 1] =2 is

lve any Four out of Six S marks each

zZ

Obtain Laurent’s expansion of f(z) = ;—2-:—_2—3:—? in (i) 1<|z] <3 (i)
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) For given the table of points :
nn &
Use normal equations, fit the straight line
the value of y(22).
Q4 Solve any Four out of Six
A
and \'ountmgth number of)hve“
10\7»n the averave numbe1 of
live msecfs- per squaxe after splayl ;
insects per square . follows  Poisson. chst 'buu
that a selected square" Vlll"'c ntai
B
C , ,.
ng, ﬁgures show the. dlstrlbutmn of the digits in numbers

m Chosen rorh a telephone directory. Test at 5% level

hosen at 1and0
taken,to occur equally frequently in the




